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1. P. 7, last paragraph: “The slant range resolution is equal to the speed of light divided by the processing bandwidth” should read “The slant range resolution is equal to half the speed of light divided by the processing bandwidth”.  The word “half” is missing.


2. P. 26, in (2.12): “s(n1,n2)” should read “s(m1,m2)”.


3. P. 102, first line in (3.58): “2(K” should read “2K”.


4. P. 129, in the second line after (4.17), “(s” should be “(sq”.

5. P. 162, 2nd paragraph: “-sin[2 ( f0 (( + (( )]”  should read “-sin(2 ( f0 ( + (( )”.


6. P. 179, above (5.39): “the solution to the range Fourier transform (5.31)” should read “the solution to the range inverse Fourier transform (5.31)”.  The word “inverse” is missing. 


7. P. 221, above (5B.6): “This ramp has a slope, Ka” should read “This ramp has a slope, -Ka”.


8. P. 335, (8.8): The last “ f0 ” should read “ f02 ”.


9. P. 339, the Fourier transform equation above (8.17) without a number: “The exponent sign should be positive”.


10. P. 339, in equation (8.17), there should be a negative sign in front of  “2(”.


11. P. 469, second line after (11.11).  “sin (r,c” should be “sin2 (r,c”.  The square is missing.

